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Candidates must write the Code on the
title page of the answer-book.
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gfed I8 15 2 |

(I) Please check that this question paper
contains 15 printed pages.

(II) we-v3 ¥ qfe 819 i 3R fiy 1Y
HE TN h B IW-YRETH H
7E-78 W fog|

(II) Code number given on the right
hand side of the question paper
should be written on the title page of
the answer-book by the candidate.

(III) F91 <9 A 6 30 TwA-79 |
18 T &I

(IIT) Please check that this question paper
contains 18 questions.

| V) o T & I foreat Jw &

¥ Uge, IW-Yieent | U A

HUTH 37Ty ford |

(IV) Please write down the Serial
Number of the question in the
answer—book before attempting it.

(V) 38 -7 &l Ugd & forg 15 fime
w1 gy fer w2 yH-um #w
fqa gaie & 10.15 a9 T
M| 10.15 s § 10.30 9 dh
B Hhad IE-UFT H UG IR
o7afyr % ERE 3 IT-gfede o 1S

15 minute time has been allotted to
read this question paper. The
question paper will be distributed at
10.15 a.m. From 10.15 a.m. to 10.30
a.m., the students will read the
question paper only and will not
write any answer on the answer-

V)

- . book during this period.
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GUs: h: AYISAT-Fare, (STufeare - sraaie)
SECTION A: Unseen Reading Comprehension

GUS: @ :  TEATCHRREY (TEATCHS )

SECTION B : Writing Skills

Gue: T: I HATHOM (STIIYH ST

SECTION C : Applied Grammar
Qs " Uf3d- et (Yidd-steeie)
SECTION D : Reading Comprehension

fAdwm: -

Instructions :

(i) ST F¥93 Tean: GUET: Gl
39 Y%7-99 § 91 TS 8/
The question paper has four sections.

(i)  Ie% GUSH STfFeq IR UHCH T FAT G
Yo% @S & IR T & S8 W HT @ fore? gt

The answers to each section must be written at one place.

(iii)  JVAHEI SR TR AGHT]

Write the question number according to the question paper.
(iv) G S ST TeFHAT ARG
@t JH1 % IR qepa H feifag

Answer all the questions in Sanskrit.

s At e

Erersust acosnacastesmt

10 HST:

15 &S

25 ASn:
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@UE: - & (SECTION - A)
- IUTSATYT— STaateH (STuiearyT—raaied)
Unseen Reading Comprehension 10 AgT:
1. Ienfafad meme afden seasemm ST g&had fored| 10

frefrfiaa merme =t ygeRt fou U gl % ST HEpd W i)
Read the following prose passage and write the answer of the given
questions in Sanskrit.

FeWST: TSeaed T Jarfl Tl 9: Usied faemfovame yemafa |
Toiea: HIARHATHHY, 371 Sl gy, Jeil P o, St =-
i | reOt: @I Ared W g el HEreh: ST, duTy
T: At fovarE 9 Toifidam| o ua O: o 3N URcIhaH| IEH:
Tartafy fovame $d: g’ 3fa aren| weher Harm: gews Widen o/egq
Iq ‘MM USCER W aWi IEq HE HadH Wl oI aF wY
iy 3fa fow w1 fefea geae agg’’ sfal “ueea: Osom:| afgwd
T SeRqed feRafy e | o 9 Al o 9 srufesafa’’ sfa 3w
FresT: | qegcal Hianm: yaaaar 9 fovasa: o9 &l sg IR9d| Swd
“fergama: worgEE: wEeg 3t
(37) THICH ITRA| (A TG 1x2=2

T ¥eg H IR AT (At g )

Answer in one word. (Only two questions)

(i) GewS: 5 g Iarf EHq ?

(i)  TieE: 7= I Frifam ?

(i) Gews: Hfa Juiin & o Te IUlfiicad  Heeh:

AT ? |

(9) YolameRH STRA| (Fad TeEaH) | Ix2=4

Ui g B I T (Shat g1 Te)

. Answer in a complete sentence. (Only two questions)

(i)  Hawm: g ffcten o shivaar ?
(i)  Totea: <higen: =afh: i ?
(iii) : e fovamd T wftaan ?
(d) T IS Fd UG Y9k HEhaA foraal 1
3 7%3q & oY 3ugw v e | fafau)

Write the appropriate title for this passage in Sanskrit.

TS TR TS e

[..52/1.] 3 BT
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(3) auTfHcdym Id| (Fad W) 33=3
fgemam 3w & (SFaet @7 ww=)
Answer according to instructions. (Only three questions)
(i) ‘o goae: foRam: shqug o ?
(%) Hlanm: (@) ge@wt: () Terea:
(il)  ‘Toed: gsoH: 34T gear: sy o ?
() goi: (@) 9fwm: (1) TS
(ili) ‘EH 3T YSHT %: YOI 3T ATIC: ?
(%) TE (@) FH (T) TEEH
(iv) Ig=sq GoH: Yesd &: fauda: ermm: ?
() afeH: (@) gsom: (1) e

~ @UE: - (SECTION - B)
AT (TEATCH )

Writing Skills 15 gt
AT g forfaad s1a: o5 wesTIeHgEd Wicdn ¢: o | Y5x10=5
a1 fod o frefafed w o wesmn # few o wed ) wEwEn

¥ ot R g: Tt

Complete the following letter written to your mother, with the help of
word given in the box and rewrite the same.

L O S

ﬁTEI'Gﬂ?T:,
femg:
JHYSIHT: |
T JOTTHT: |
HE FUCA: A AN HHI| WIALTH I ARG g1 (fi)eeennn... |
WA (i) .evnenrennenns. wey: 3 g faww) @ o sremeEe
v g fow faf<a: smfiq) % wgErd (V).
FAAEE  (vi)eooroeennnnn. W, (vitdeiie . o T 93| Fereme
e Gl el | Sl ) e AT |
THATE TEhE AT | ﬁmmmwrm ‘GBQFﬁZIT |

e masiol

g 2"

O 4
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bl Nl
T, foarer, o, W, 9, HedwEEd:, $E,
qaAw, I, ToSTH

3. o7y Ve o gEe HeuIAl YenvIeqHl HETAqdl U A Uehdd fofwd|  1x5=5
= fr T R w TEe weum A fiu MU weg A wERAr ®@ uiw
e AT v B
Describe the following picture in five Sanskrit sentences with the help
of the words given in the box below.

2. rfereh, ga:, A, S, Satad:, Helh, WaaeH, JAHesH,
Tierfe, TR, SgWafs, s, Jf:, 5w,

STUAT (OR)
TesuTIETIeel EEEn frefatad v sifieper wafin: e
T G | 1%5=5
ToaT # fa o wedl ) weEar @ e fwa w ute depd a |
T ATee fafau|

Write a paragraph in five Sanskrit sentences on the following topic
with the help of the words given in the box.

A T AR A SAS TR

|..52/1.] 5 P.T.O.




nTafh:
He[uT
TG, A1, e, e, TIAAATET:, UPH, HEHid:, &M,
Fel, AR, feem:, o, o, Yqf:, T, HATeHsiE,

4. srenfefaeny st SepauTRn st fored) (e EicEREca:)) 1x5=5
Fretfcriea il =t wespa Wi § srgare s iR CECRICEICE)

Translate into Sanskrit and write the following sentences. (Only five

~ sentences)
1. T T T 2| 1. Gopal sings a song.
2. &H 99 A eEd 2 2. We see picture.
3. THT %cl hicThIdl SR 3. Rama will go to Kolkata tomorrow.
4. A T Hal o917 4. Where was Shyam yesterday ?
5. A 99 Feq @ %I@'l 5. All of you write by pen.
6. = W | ST 2 6. The child fears from bear.
7. ¥ TS GG ? 7. May they study ?
@UsE: -7 (SECTION - C)
HITITHSATRIUTH (TUGTH SITRIIT)
Applied Grammar 25 g
s.aﬁ%ﬁm@g}@@mﬁmc'mm%@m

CERRCEGERE) 1x4=4

ﬁm%%aarﬁﬁ%@%qﬁﬁq@awﬁ—%@aﬁ%@n
(FaeT IR T9H)

Write the underline words of the following sentences after joining or
disjoining Sandhi’s. (Only four questions)

(i) o ol R +8e: 7 wwiy:)

(ii) ¥rEEE frevyay s

(iii) SATepTeT: W8 STTEE: AT

(iv) B Shegrfor | Helg T +ATY SE|

(v) o1am: gem: mf?aa“r:—rwagﬁw:x

AT A T A€ R

.52/1.] 6
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eifeRadarey Yarfyauer o fug a1 weafoseus: focn foraa)
CERBIEEERLY 1x4=4
freferfaa ameit o Yaifera el 1 anrg tyen foug fu o fospedt @ @

g faftau| (haet =) w9H)

Choose and write the correct compound or expounded forms of the
underlined words in the following sentences. (Only four questions)

(i) @ fomys: 3fa & 7 Sl
() oo w1 o7 @ (@) oo w9t o7 | (1) fera: s o |
(i) 7f: TS Ty |
() 7 sl (W) 3o fasee (1) S8, Sfash
(ifi) ST T, SOE: |
(%) $: 9 @ 9 (@) T TG 9 () FN: A A
(iv) & YRS A& Heard # |
(%) YIRAE: (@) SR () WREE
(v) TW: g 9gEnq grEtd S
(%) g™, (@) FroRenq (1) g

seffaqary tafgauer sHid-ye gasa favsa a1 Sfeaq sw
fepeter: foean forad| (el gerergeam) 1x4=4
frfafaa el o Y@ifed uql § THfa-Teat I SgH AT JUE Hh

3fea I faepedt ® @ g foafaw) (Faa =) g)

Write the underlined words of the following sentences after joining or
disjoining suffixes to roots or words, selecting the correct answer from
the options given below. (Only four questions)

(i) Fenfafcs & q@ forva

(%) foRw+amy (@) feiv+ae (1) fomw+ad
(i) @ey S S

(o) TeEeT+2TY (W) AT+ () FeHeA+ae,
(ili) fEeR+Ta @TeeH goi|

() feerresm (@) feeman () feerteem
(iv) Ffg: Faad]

(%) S+ (@) S+ () TAEq+agY
(v) THH=: Tsh: 98: gi+3% ATl

(%) udifse: (@) wififes: () afif:

1] 7 P.T.O.
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ST Yad: UG areddiadd dheal sdifeiRad Harg ga: foed| 1x3=3
oo | fQu U wreq) i wgEdt @ areauiEdd Hd Y FEfaied garg
Gl RGH fafau)
Re-write the following dialogue changing the voice with the help of
words given in the box.
o - g | o T g ?
UL - WD o THRYT 933 |
ToreT: - T o el ERfE ?
M = ST HAT (1) evvvreneeeeseeiinnnnn MY TR
o - foRN e ST ey raafd ?
T — ST HEATH AT BUT ({11) .2 vvvnrenrrennrnnnnn,
Houat
IT3Ad, AT, TeAehT:
F1ET (OR)
FITARGAHT TR areqaiEd Fed| (Shae TITT) 1%3=8
frfafaa e # area-uftada i) (SFae i 999)
Change the voice in the following sentences. (Only three questions)
(%) @ Tk q3fH|
(@) T v ded|
(1) 1% foee™ Ty |
(a) T wfid M|
() T "k U
FUfARgateTeR R Hasiehee: [Idal (Fee TTageay) 1x4=4

frferfaa feremt & ok ol 1 qfd wresies w=al & Hifd) (e
IR )

Re-write the daily routine using words in place of figures.
(Only four questions)

(%) Toomns M 8:00 .- I wfd|
(W) THRM: A 4:30 ooeveennnnnnnn YA Tres(d|
(U NEE s e BIGRERECRG
(%) SRR TR 6:30 ............... ST Hf|
(T) A TN 8:45 woveererennnns &k Tald|




(haret SR Yix6=3
frferfea amet d o sl & gfd wesmn # fou U st wei &% g
HIfre) (Faa 3 TH)

Fill in the blanks in the following sentences with appropriate
indeclinable words given in the box. (Only six questions)

Lt TR afrsafa|
SRR e Tforamen: 1fsT|
CEREEl e AT g1 Tes(d |
(=) e v W T JA |
() MR STTANTIT ISTTH |
(M. ufegq geafd ?
L ey fofa: 7 sweofian)
1 oL E R R o HUM|

HosquT

e, HedT, g, A, afg, v&:, oFE, e

11. IefaRadardy Wafgauey owgn 3fed| 1g 1 faseds: faen fowm)
(It TTTIIH) 1x3=3
frefafaa ami § tanfga ue o19g 81 Y8 ug fase # 4 g fafam)
(Fhaa o T99)

Underlined words are incorrect in the following sentences. After
selecting correct words from the options and write the same. (Only
three questions)

(%) FeTd wedl: wafdi| (et /et /e

(@) gl gk shifgway | (shifesatd/shifesayr: /shifesata)
(1) ST Geah US| (cH/H: /37EH)

(%) it STt St | (T / i/ )

|.52/1.] 9 P.T.O.




EYE

5
WUs: -¥ (SECTION - D)
ufda - sraatey (afdd-sraate)
Reading Comprehension ? 30 srgT:
12, srenfofiad e qfSeE yeduwE St gepa fgd| 5

Feferfie Termw 1 TeE fu o weE % IR dea o Rl
Read the following prose passage and answer the given questions in
Sanskrit.

ATH 7 @ omeht daifeh = faan) S st
ST Yh-Yorh ol gaaH) @ qeweTe @ d feivg smem
ST < Srure| g SETTET @ Fiotg AT ddisa @t s
fe Sueenqy onfepam) o=y @ <R w-w-us QA TTfidet |
e HiTerg T FHAH TN =REA A 3 BIEATR BRI
AT 7Q:| T g wemnt frewm ada) enRvmdi f iy
AT ST R 9§ W e SHgAya|
(37) THUGT ITA| (e TIEEH) yx2=1
T Weg § I AR (Faet 3 5
Answer in one word. (Only two questions)
(%) et & T ?
(@) & e =it folg e ?
(T) T %: GHETET aeEd ?
(%) qUleTeRIA IR | (et IeTHey) Pxd=]
ol 9T I G (e T )
Answer in a complete sentence. (Only one question)
(%) —ArEfisr: s 319 AT ARgHTEE ?
(@) T A g o =reee ?
(®) wesferheue: sfaaq 3o facan fored| (Faet wvmem) 1x3=3
feu e forepedi § & sfe st g R (et < weT)

Choose and write the appropriate answer from the given options.
(Only three questions)

(i) ‘Trouew s & wiaee mem s ?
(%) queAy, (@) e (1) @

3] 0



(i) ‘gaam 3o ueed wue foR?

(%) ARG (W) W (1) SferTerg:
(iit) T 3 vewn 1 famivoag mweist wgery ?

(%) =fim (@) *1=g; (1) Ta:
(iv) ‘e’ sfi veea 6 fRamg Tem wwe

(%) =degd. (@) 3eEaN (1) FTiaaT,

13. FUIffad ue gfdean JEaueamm ST T fored| 5
frmfeiiga wer =t et feu TTe Wi o 3T wwha § fafau)

Read the following poetry passage and answer the given questions in
Sanskrit.

STTER: Tt o 3@3@%’5&1 EEH!
TETE 18I erar STorensiy faema: ||
(31) TS ITRA| (et TTEAH) Yx2=1
T &g | I ) (Fadt @ Te)
Answer in one word. (Only two questions)
(i)  gom: g &: 7
(ii) oTEHTR SAER: TXIH Waq 3fd HuT o=y Afeq?
(iii) wmoresfo fawma: =: e ?
(1) qofaTe IoRd| (e JvTHeY) Txi=]
qUi e § I T (Fad T TE)
Answer in a complete sentence. (Only one question)
(%) 9: fomiva: gmo=: Ify & w@q?
(@) ﬁgﬁﬂ o fFg?
(W) vedfomeus: 3fuaq 3T o foraa )l (et Twsam) i (1m3=3
feu 7w foeret # ¥ 3 I g foafaw) (Faa 9 999)

Choose and write the appropriate answer from the given options.
i (Only three questions)

(i) ‘& sfa Srames wue &% waq?

() 5 (@) wer=my, (1) A=
(ii)  ‘werm:ed:’ o weat: 5 fasremey ?
(%) &H: (@) 9= (1) oo
{.52/1.]
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(iii) ‘he | SO IGH F: YA Vel S 7
() o: (@) F=: () &
(iv) ‘wEhn’ sere fh foeimeg vl s ?
() == (@) = () forgam
14. ARG Ttz fSean TeaseHT el Sega forad| 5

et restiar =t vt fou e el % IR wepa § Ry
Read the following drama passage and answer the given questions in
Sanskrit.

T - 9 A | s gefes: sfelafestR g
TG~ AYA] IR, 6 R v srersemfeen =)
ELERERE 17 £ G BT U e B et o (B oo e oo

sfifceareata | S=gTHer § WaamaiERy |
;- (Wevn) o | STdidisEr |
AU - o AT | | amiee: syEestafy 3 A e yeem: |
IeeAqE: ~  HTHYEg TR |

AR - W AAforggie|
TJeaeE: - I & gﬂﬂ?ﬁﬂfﬁﬁmsﬁ SATUTTERTRI ?
(31) THIGH I (e TITZTH) ox2=1]

Th Ieg | IeR ST (Sharet & o)
Answer in one word. (Only two questions)
(%) =R Ieer T werficar geaiyafy ?
(@) = w redamy: fifaq seaeafy?
() AW SR e we Sifon s ? -
(&) qoiaTeRe ITHA| (et TeEEH) Pi=l
9o S W IR G (Feet T Te)

Answer in a complete sentence. (Only one question)
v () A o Tee: R sesfa
(@) ‘vl stfrgghmia’ sfa e aeem: 5 Fuafy? _
(%) Sexforheusr: S 3w forean foa| (Faet wesem) 1x3=3
few o fompedi # @ Sfua s g fafaw) (Fae € ww)

Choose and write the appropriate answer from the given options.
(Only three questions)

|.52/1.] 12
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(i) e ‘sfoviafa’ sfa framn: wdud fomy?
(%) efumry: (@) UiEd: () sAfeegaf:
(if)  “SEUSTE 3 g fasreg e ? -
() FsETST, (@) T (1) 3|
(iii) e ‘foegaf:’ s & faeimag sy 2
(%) i (@) Hfaegaha: () o
(iv) ‘orefmrey:’ 3fa Tﬁjﬂ?@ framae TereTd, e foraal
(%) Icareafa (@) yarafa (1) srfasfafa

15. (@ifgauer g STwAfmiv $%d| (Shael Jaqea) | 1x4=4
T@Tfgd 9Gl % SR | ywfmio fifvw) (Fae ar 7w)

Frame the questions on the basis of underlined words. (Only four
questions)

() T T Hed AT ge|

(w) re: e Teame, sree T
() TR =1 ARG US|

(&) ERfaT ik aRwal T T

(%) ferfer fomm 58 gt = =: Fafq!

16. TSS[TG: Tferauert focen stenfaaavarrar: s g |
Tl § Tferd v e Fefafaa dHT veliehl & o i ol Hifd

Complete the prose order of the following two shlokas by choosing the
appropriate words given in the box.

L foar w=sfd g s1ed frenes wq

franse fo quedy segfmedehar | Ysx4=2
T - A T (1) eeeeeeenen... e fommem (i) oo |
ST et TR (D) o au sfa 3fE
(iv) < |
II. e guyEl aTe Teu ASSYEE

IRCIST % Y s fagge: || Yox4=)

TSRS A TR

|.52/1.] 13 | ET0,
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17.

AT~ A THIEH (1) .oeeeenennnnn o Bt 0| SR e B
IR, (8:) fmgedh: (ii) .oooveeeennnnn, S INIST AU (%)
(iv) s l

&k, deshasidl, ToS(d, U, I, qTed, a9:, T

3t (OR)

HSS[OTAT: HIETEAA Yeliehed wrane feraeen i ga: fome)

HoS[T h1 TETEd | ver o wraned | fh vt <t gfd s g el

Rewrite after filling the blanks in the meaning of Shlokas. with the help
of box.

e fg wgsamn wowee v ;|
ARECGEHEH! 7Y Sedl I AEEiEld||
T - 3 TFEHT TG (D)evvevrrenrinnnnnnnnnn. q A IRy e
B i Y Al I IR SATIHRON A
forepramfa: ferm wafd | amamT d A (H1) e oo, Hisy

Y eI WHE: IFH Feal T R foee wOfd, s ey
1) TERCERIE T IR T yafd|

T
g:Rad:, Jom:, AT, WEM,

SR -FATe Fgfa-swa forad |

frferfaa o 91 wwfed w0 & ffag)

Write in right order of the following parts of story.
() =@ R e = goe: |

(i) ‘wBH swenty # wf< 3fa T

(iii) aufy 79 FfEH T fafie: e

(iv) e Fveardd HeRd: 3 U8 YoN: g9eEd|
(v) HXWEEA Yol $5E Tedd gl

(vi) § amHE TTad TS acd | Td 9g SR’ |
(vii) qTfY gefct g w1 STferent ar wafd|

(viii) TEY TAHY S JodecHa Td|

1.52/1. ] 14
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18. ‘& wey forRaar et wafavef ‘@’ e fafaart af=, arfr aemso
Tmet forad| (haet Jv Ty 1x3=3
‘% e ¥ fiftad w6 % ol e ‘@’ wry § e ™ ¥ e 3w
Y 37 Tuer fafau) (aa o9 9)

Synonyms of the words of column ‘Ka’ have been given in column
‘Kha’. Write in order in front of required words. (Only three questions)

h E}

e o

TS ticey

o Foull:

T fiem

s¥oaT (OR)

FfIRgaamy WfgaugHl JagEem Sfaaa foen fawa) (Fead
ERSERLY 1x3=3

fr=forfaa ol & Yarfea ve & yemger sfa o1 = g fafag)
(Faet i )

Write the appropriate meaning after choosing the underlined words of
the following sentences. (Only three questions)

1. g8 g 3|

(%) arefm: (@) "rer: (1) ==
2. A 9N Hdl GgECiid: |

(%) I (@) fer: (1) g:
3 Wﬂﬁ B éa\m: E@RI\I

(%) T (@) B ()
4. gEA: SElEg: JoH TH, 3T |

(%) gammen (@) #fe=aa (1) dareH

RS TS ST

TR 15

oS i s A




